
Sudoku
To solve this puzzle, fill the grid with digits from 1 to 6. Each row and column must contain 
each digit from 1 to 6 with no repeats. Some intersections list the digits from adjacent cells.

2008
November 29Quad Clue

Puzzles by
David Millar

See more at
thegriddle.net

1456 1235 2346

1234 3456 12563346 1245

2356 1246 1345

1366 1245

2345 1245

2356 1134

1123

2356

1134 2256

1245 2356

2266

2556

1335

1346

2334

1566

1266

2345

2456 1356

2456

1246

1356

2366

2456 1236

1234 1356

3356

1356 2445

3445

23451236

2235

1235

2346

1266

2336

2236

1235

2455

1245

1345

1466

1236

1236

1336

3345

1235

1346

1134

1233

1345

1346

1156

2466

2456

2366

2356

1236

3456

1246

34561234

1234

Please send me your comments via e-mail to

davmillar@gmail.com
Fixed 12/2/08 - Thanks to Blaine and Terry
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